








Q.9 :-The ratio between the price of a scooter and a T.V . is 9: 5 respectively. If the price of 
the scooter is Rs .6000 more than the price of the T.V. what is the price of the T.V.?
एक सू्कटरऔर एक टी.वी. की कीमत के बीच का अनुपात। क्रमशः 9:5 है। यदि सू्कटर की
कीमत टीवी की कीमत से 6000 रुपये अदिक है, तो टीवी की कीमतक्या है?

(A)Rs.7000 (B)Rs.8000 (C)Rs. 7800 (D)Rs.7500 (E) Rs. 8500





Q. 1 :-A's purchase price is twice the purchase price of B. If the selling price of B is Rs. 3600 
and the profit percentage is 20%, find the purchase price of A.
A का क्रय मूल्य B के क्रय मूल्यका िोगुना है। यदि B का दवक्रय मूल्य 3600 रु है और लाभ
प्रदतशत 20% है, तो A का क्रय मूल्य ज्ञात कीदिए।

(A)3600 (B)3000 (C) 6000 (D)6500 (E)7000



Q. 2 :-If the selling price of a car becomes 1.4 times of the previous selling price, the 
shopkeeper would have received 2.3 times profit than before. Find the first profit 
percentage?
यदि दकसी कार का दवक्रय मूल्य दपछले दवक्रय मूल्यका 1.4 गुना हो िाता है, तो िुकानिार को
पहले की तुलना में 2.3 गुना लाभ प्राप्त होता। पहला लाभ प्रदतशत ज्ञात कीदिये?

(A)45.51% (B)85.61% (C)44.44% (D)85.81% (E)None of these



Q. 3:-The profit percent earned by selling an article for Rs. 1920 is equal to the loss percent 
earned by selling the same article for Rs. 1280. At what price should he sell the article so 
that profit earned is 25%?
एक वसु्त को 1920 रुपये में बेचकर अदिित लाभ प्रदतशत उसी वसु्त को 1280 रुपये में बेचने पर
अदिित हादन प्रदतशत के बराबर है। उसे वसु्त को दकस मूल्य पर बेचना चादहए तादक अदिित लाभ
25% हो?

(A)2000 (B)2200 (C)2400 (D)CND (E)None of these



Q. 4 :-A shopkeeper bought 140 apples at the rate of Rs 12 per apple, of which 15% apples 
are rotten. If he sold all the remaining apples at 25% profit, find the total profit percentage.
एक िुकानिार ने 12 रुपये प्रदत सेब की िर से 140 सेब खरीिे, दिनमें से 15% सेब सडे हुए हैं।
यदि वह शेष सभी सेबो ों को 25% लाभ पर बेचता है, तो कुल लाभ प्रदतशत ज्ञात कीदिए।

(A)5.25% (B)4.25% (C)7.25% (D)6.25% (E)None of these



Q. 5 :-Aryan bought two articles for Rs. 13500. He sold first at a gain of 20% and the 
second at a loss of 10%, thereby gaining 2% on the whole. Find the cost of the first article
आयिन ने िो वसु्तएँ 13500 रुपये में खरीिी ों। उसने पहली को 20% के लाभ परऔर िूसरी को
10% की हादन पर बेचा, दिससे पूरे पर 2% का लाभ हुआ। पहले लेखका मूल्यज्ञात कीदिए

(A)4500 (B)5600 (C)6750 (D)7650 (E)5400



Q. 6:-A trader has 600 kg of rice, a part of which he sells at 15% profit and the remaining 
quantity at 20% loss. Overall, he incurs an overall loss of 6% .What is the quantity of rice 
he sold at 20% loss?
एकव्यापारी के पास 600 दकग्रा चावल है, दिसका एकभाग वह 15% लाभ पर तथा शेष मात्रा
20% हादन पर बेचता है। कुल दमलाकर, उसे 6% की कुल हादन होती है। उसने 20% हादन पर
दकतने चावल बेचे?

(A)300kg (B)410kg (C)360kg (D)210kg (E)500kg



Q. 7 :-After two successive increase, each of K%, on the cost price of a toy, total profit is Rs 
552. If the cost price of the article is Rs 800, then the value of K is:
एक खखलौने के क्रय मूल्य पर K% की िो क्रदमक वृखि के बाि, कुल लाभ 552 रुपये है। यदि वसु्त
का लागत मूल्य 800 रुपये है, तो K का मूल्य है:

(A)20 (B)30 (C) 40 (D)25 (E)None of these



Q. 8 :-A camel and a cart together cost Rs. 5000. If by selling the camel at a profit of 10% 
and the cart at a loss of 10% a total profit of 2.5% is made, then what is the cost price of the 
camel? 
एक ऊँटऔर एक गाडी की कीमत 5000 रुपये है। यदि ऊँट को 10% के लाभ परऔर गाडी को
10% की हादन पर बेचने पर कुल 2.5% का लाभ होता है, तो ऊँट का लागत मूल्यक्या है?

(A)4500 (B)3125 (C)3000 (D)2100 (E)3800



Q.10 :-The profit earned by selling an article for Rs. 1516 is equal to the loss incurred by 
selling the same article for Rs. 1112. what is the cost price of the article ?
एक वसु्त को रु. में बेचकरअदिित लाभ। 1516 उसी वसु्त को रुपये में बेचने पर हुए नुकसान के
बराबर है। 1112. वसु्त का क्रय मूल्यक्या है ? 

(A)1314 (B)1343 (C)1414 (D)1434 (E)None of these



Q.11 :-A man sells a chair at Rs.960 and earns a profit of 20%. If the man wants to sell it at a 
profit of 40%, then at what price he should sell the chair?

एकव्यखिएक कुसीको 960 रुपये में बेचता हैऔर 20% कालाभअदिितकरता है। यदिव्यखि
इसे 40% के लाभ पर बेचना चाहता है, तो उसे कुसीको दकसकीमत पर बेचना चादहए?

(A)1120 (B) 1020 (C) 1280 (D)1200 (E)None of these



Q.12 :-By selling 12 apples for a rupee, a man losses 20%. How many for rupee should he sell to gain 
20% ?
एकरूपये में 12 सेब बेचने पर एकआिमी को 20% की हादन होती है। एक रुपये में वह दकतने
सेब बेचे की उसे 20% का लाभ हो ?

(A)5apples (B)8apples (C)10apples (D)15apples (E)None of these



Q.13: -Price of an article is marked up 50% above the cost price. If the discount offered on the 
article is Rs. 50 and the profit earned is also Rs. 50, what is the marked price of the article?
एक वसु्त का मूल्यक्रय मूल्य से 50% अदिकअोंदकत दकया गया है। यदि वसु्त पर िी िाने वाली
छूट रु. 50औरअदिित लाभ भी रु. 50, वसु्त का अोंदकत मूल्यक्या है?

(A)Rs.200 (B)Rs.240 (C)Rs.300 (D)Rs. 450 (E) Rs. 600



Q.14:-A table is sold at a profit of 20%. If both the cost price and the selling price of the 
table are decreased by Rs. 100, the profit would be 5% more, original cost price of the table 
is

एक मेिको 20% लाभ पर बेचा िाता है। यदि मेि के क्रय मूल्यऔर दवक्रय मूल्यिोनो ों में 100 रू. 
कीकमीकर िी िाती है तो लाभ में 5% और वृखि हो िाती है, तो मेिका वास्तदवक मूल्य है

(A)600 (B)500 (C)650 (D)cnd (E)None of these



Q.15:- When a person sold an article, his profit percent is 60% of the selling price. If the 
cost price is increased by 75% and the selling price remains the same, then find decrement 
in the profit is what percent of the selling price of the article? 
िब दकसीव्यखि ने एकवसु्त बेचा, तो उसका लाभ प्रदतशत दवक्रय मूल्यका 60% है। यदि लागत
मूल्यमें 75% की वृखिहुई हैऔर दवक्रय मूल्यसमान है,लाभ% में दगरावट वसु्त के दवक्रय मूल्य
का दकतना प्रदतशत है?

(A)25% (B)30% (C)40% (D)27.5% (E)None of these



Q.16:- A watch is sold at a profit of 20% if both the cost price and selling price of the watch 
decreased by Rs. 200, the profit would be 10% more. original cost price of the watch is? 

एकघडीको 20% लाभ पर बेचा िाता है, यदि य मूल्यव दवक्रय मूल्यिोनो ों में ही रू. 200 कोकमी
कर िी िाये तो लाभमें 10% की वृखि हो िाती है घडीका वास्तदवकक्रयमूल्यज्ञातकरें?

(A)500 (B)550 (C)600 (D)650 (E)None of these



Q.17:- A man sells a TV at a profit of 25% of the cost, had he sold it at a profit of 25% of the 
selling price, his profit would have been 750 Rs more. The cost of the TV is
एकआिमी एक टीवी को लागत के 25% के लाभ पर बेचता है, यदि वह इसे दबक्री मूल्य के 25% 
के लाभ पर बेचता तो उसका लाभ 750 रुपये अदिक होता टीवी की लागत है

(A)8000 (B)9000 (C)10000 (D)7000 (E) None of these
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